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1. (d)N I G H T M A R E S

A E G H I M N R S T

2. (c) 72 ÷ 4 × 64 + 8 – 24 = 80

After interchanging the two

sign the equation.

72 + 4 × 64 ÷ 8 – 24 = 80

72 + 4 × 8 – 24 = 80

72 + 32 – 24 = 80

72 + 32 – 24 = 80

104 – 24 = 80

80 = 80 (L.H.S = R.H.S)

3. (d)

4. (a)

5. (d)16 × 20 ÷ 15 – 4 + 2

After replacing the sign with

their code

= 16 – 20 + 15 × 4 ÷ 2

= 16 – 20 + 15 × 2

= 16 – 20 + 30

= 46 – 20

= 26

6. (c) M TA IR U

N UZ HS T

+1 +1–1 –1+1 –1

and,

H DY A IU N

I EX Z JV M

+1 +1–1 –1 +1+1 –1

Similarly,

N AI NS S

O BH MT R

+1 +1–1 –1+1 –1

7. (b) (84, 28, 7)

= 84 ÷ 3

= 28 (Middle term)

= 28 ÷ 4

= 7 (Last term)

(144, 48, 12)

 144 ÷ 3

 48 (Middle term)

= 48 ÷ 4

= 12 (Last term)

Similarly,

(180, 60, 15)

180 ÷ 3

= 60 (Middle term)

= 60 ÷ 4

15 (Last term)
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8. (c)

K
11

14 5 1 18 

(25 – 14) (5 + 5) (4 + 1) (25 – 18)

J
10

E
5

G
7

N E A R

and,

F
6

(25 – 19) (5 + 1) (4 + 13) (25 – 5)

F
6

Q
17

T
20

S A M E
19 1 13 5

Similarly,

T
20

(25 – 5) (5 + 1) (4 + 18) (25 – 14)

F
6

V
22

K
11

E A R N

5 1 18 14

9. (c)

B  K  Y  P

Opp.

Opp.  , 

G  D  T  W

Opp.

Opp.

S  X  H  D

Opp.

Opp+1

(Odd.)
, X  J  C  Q

Opp.

Opp.

10. (b)
NBX   MEW    LHV   KKU    JNT

+3 +3 +3 +3

–1 –1 –1 –1

–1 –1 –1 –1

11. (d) H O M E

E L J B

–3 –3 –3 –3

Similarly,

D U K E

A R H B

–3 –3 –3 –3

12. (c)

F
lu

te Violins Pianos

Guitar

13. (c)

14. (b) 5, 9, 18, 43, 92, 213, 382, 671

(2)
2

(3)
2

(5)
2

(7)
2

(11)
2

(13)
2

(17)
2

4 9 25 49 121 169 289

15. (d)1, 2, 5, 3,4

16. (d) (7, 150, 23)

7 + 23 = 150 ÷ 5

30 = 30 (L.H.S = R.H.S)

(11, 75, 4)

 11 + 4 = 75 ÷ 5

 15 = 15 (L.H.S = R.H.S)

Similarly,

(15, 140, 13)

 15 + 13 = 140 ÷ 5

 28 = 28 (L.H.S = R.H.S)

17. (c)

18. (b)27 – 3 × 2 ÷ 13 + 9 = 14

After interchanging the sign

 27 ÷ 3 × 2 – 13 + 9 = 14

 9 × 2 – 13 + 9 = 14

 18 – 13 + 9 = 14

 14 = 14 (L.H.S = R.H.S)

19. (c)

20. (b)

21. (c)

22. (c) P Q R
+ – –

S
+

T
–

U
+

Brother Sister

Daughter

Brother

H/W

U is the husband of T

23. (c) U

O

A

G

+1

+1

+1

+1

–3

–3

–2

–3

+5

+5

+4

+5

V

P

B

H

S

M

Z

E

X

R

D

J

(Odd.)

24. (a) Mary       Jammu  = 1    7went 3

I     like     Mary = 2  7  4

You  Goa  =  8   9   went 3

Hence, code for Jammu is 1.

25. (d)50 : 9

(9 – 2)2 + 1 = 50

82 : 11

(11 – 2)2 + 1 = 82

Similarly,

x : 14

(14 – 2)2 + 1 = 145 = x
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B-GENERAL AWARENESS
26. (b) According to Ashokan

inscriptions the Pradeshika,
Rajuka, and Yukta were key
officials involved in district-
level administration. They
were responsible for
overseeing law and order,
revenue collection, and
welfare activities within their
respective regions.

v'kksdu f'kykys•ksa ds vuqlkj] çknsf'kd]
jktqd vkSj ;qDr ftyk&Lrjh; ç'kklu
esa 'kkfey çeq• vf/dkjh FksA os
vius&vius {ks=kksa esa dkuwu vkSj O;oLFkk]
jktLo laxzg vkSj dY;k.kdkjh xfrfof/
;ksa dh ns•js• ds fy, ftEesnkj FksA

27. (d) The Agnikula theory
mentions four main Rajput
clans believed to have
originated from a sacrificial
fire pit (Agnikunda) at Mount
Abu. These clans are: (i)
Parmar, (ii) Chauhan (iii)
Solanki (also called
Chalukya) & (iv) Pratihara./

vfXudqy fl¼kar esa pkj çeq• jktiwr
oa'kksa dk mYys• gS] ftuds ckjs esa
ekuk tkrk gS fd os ekmaV vkcw esa ,d
;Kh; vfXudqaM ls mRiUu gq, FksA ;s
oa'k gSa% (i) ijekj] (ii) pkSgku] (iii)

lksyadh (ftUgsa pkyqD; Hkh dgk tkrk
gS) vkSj (iv) çfrgkjA

28. (c) On 29 March 1857, Mangal
Pandey, a sepoy in the 34th

Bengal Native Infantry,
attacked British officers at
Barrackpore (near Kolkata).
This act of rebellion is
considered the first spark
that eventually led to the

larger Revolt of 1857./29 ekpZ
1857 dks] eaxy ikaMs] 34oha caxky
usfVo bUiQSaVªh ds ,d flikgh us] cSjdiqj
(dksydkrk ds ikl) es a fczfV'k
vfèkdkfj;ksa ij geyk fd;kA bl foæksgh
ÑR; dks 1857 ds O;kid foæksg dh
igyh fpaxkjh ekuk tkrk gSA

29. (a) Sarojini Naidu is called the
“Nightingale of India”
because of her lyrical poetry
and her eloquence. She was
an important leader in
India’s freedom struggle and
the first Indian woman to

become President of the
Indian National

Congress./ljksftuh uk;Mw dks
mudh dkO;kRed dforkvksa vkSj
okdiVqrk ds dkj.k "Hkkjr dh
dksfdyk" dgk tkrk gSA os Hkkjr ds
Lora=krk laxzke esa ,d egRoiw.kZ usrk
Fkha vkSj Hkkjrh; jk"Vªh; dkaxzsl dh
igyh Hkkjrh; efgyk vè;{k cuhaA

30. (b) Most weather phenomena,
including cloud formation,
rainfall, storms, and
winds, occur in the
Troposphere, which is the
lowest layer of the Earth’s
atmosphere, extending up
to about 8–18 km above
the Earth's surface./

vfèkdka'k ekSle laca/h ?kVuk,¡] tSls
ckny fuekZ.k] o"kkZ] rwiQku vkSj gok,¡]
{kksHk eaMy esa gksrh gSa] tks i`Foh ds
ok;qeaMy dh lcls fupyh ijr gS
vkSj ìFoh dh lrg ls yxHkx 8&18
fdeh rd iQSyh gqbZ gSA

31. (b) During summer, the land
heats up faster than the
surrounding oceans,
creating a low-pressure
area over the Indian
subcontinent. The moist
winds from the Indian
Ocean are attracted
towards this low pressure,
bringing heavy rainfall to

the region./xfeZ;ksa ds nkSjku]
tehu leqæksa dh rqyuk esa rsth ls
xeZ gksrh gS] ftlls Hkkjrh; miegk}hi
ij ,d fuEu ncko {ks=k curk gSA
fgan egklkxj ls ue gok,¡ bl fuEu
ncko dh vksj vkdf"kZr gksrh gSa]
ftlls {ks=k esa Hkkjh o"kkZ gksrh gSA

32. (a) The National Manu-
facturing Mission,
introduced in the Union
Budget 2025 – 26, aims to
significantly boost India's
manufacturing sector. Its
primary goal is to elevate
the manufacturing share of
GDP from the current
roughly 15 –17% to 25% by

around 2025–26/j k"V ª h;

fofuekZ.k fe'ku] ftls 2025&26 ds
dsaæh; ctV esa is'k fd;k x;k] dk
mís'; Hkkjr ds fofuekZ.k {ks=k dks
mYys•uh; :i ls c<+kok nsuk gSA bldk
çkFkfed y{; thMhih esa fofuekZ.k
fgLlsnkjh dks orZeku yxHkx 15&17»
ls c<+kdj 2025&26 rd 25» djuk
gSA

33. (b) The provisions of

Citizenship in the Indian

Constitution are contained

in Articles 5 to 11 under

Part II./Hkkjrh; lafo/ku es a
ukxfjdrk ls lacaf/r çkoèkku Hkkx II
ds vuqPNsn 5 ls 11 esa 'kkfey gSaA

34. (b) The Chief Election

Commissioner (CEC) of

India is appointed by the

President of India under

Article 324 of the Indian

Constitution. Though the

President makes the

appointment, it is done on

the advice of the Council of

Ministers headed by the

Prime Minister./Hkkjr ds eq[;
fuokZpu vk;qDr (lhbZlh) dh fu;qfDr
Hkkjr ds jk"Vªifr }kjk Hkkjrh; lafoèkku
ds vuqPNsn 324 ds rgr dh tkrh gSA
gkykafd fu;qfDr jk"Vªifr }kjk dh tkrh
gS] ;g ç/kuea=kh dh vè;{krk okys
eaf=kifj"kn dh lykg ij gksrh gSA

35. (c) The Atal Pension Yojana

(APY), aims to provide a

fixed minimum pension to

workers in the unorganised

sector after the age of 60.

It is a government-backed

pension scheme designed

for people who are not

covered by any formal

pension system./vVy isa'ku
;kstuk (,ihokbZ) dk mís'; vlaxfBr
{ks=k ds Jfedksa dks 60 o"kZ dh vk;q
ds ckn fuf'pr U;wure isa'ku çnku
djuk gSA ;g ,d ljdkjh lefFkZr
isa'ku ;kstuk gS] tks mu yksxksa ds fy,
fMtkbu dh xbZ gS tks fdlh vkSipkfjd
isa'ku ç.kkyh ds varxZr ugha vkrsA
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36. (c) Acceleration is defined as

the rate of change of

velocity with respect to

time. It is a vector

quantity./Roj.k dks le; ds
lkis{k osx esa ifjorZu dh nj ds :i
esa ifjHkkf"kr fd;k tkrk gSA ;g ,d
lfn'k jkf'k gSA

37. (a) For resistors in parallel :/

lekukarj esa çfrjks/dksa ds fy,%

1 2 3

1 1 1 1
 =  +  + 

R R R R

Here:/;gk¡ 
1 1 1 1

6 3 2R
  

Taking LCM of 6 :/6 dk LCM

ysrs gq,%

1 1 2 3 6
1

6 6 6 6R
    

Therefore/blhfy,]
R = 1

38. (c) The main ore of Mercury
(Hg) is Cinnabar (HgS). It
is a bright red mineral
consisting of mercury(II)
sulphide. Mercury is
extracted from cinnabar by
heating the ore in air,
which releases mercury

vapour./ikjk (Hg) dk eq[;
v;Ld flusckj (HgS) gSA ;g ,d
pedhyk yky •fut gS] ftlesa ikjk
(II) lYiQkbM gksrk gSA flusckj dks
gok esa xeZ djus ls ikjk ok"i fudyrk
gS] ftlls ikjk çkIr fd;k tkrk gSA

39. (d) The correct answer is
Tissue-organ grade
organisation – Euplectella,
which is incorrect because
Euplectella belongs to
Porifera and exhibits only
a cellular grade of
organisation, not tissue-

organ grade./lgh mÙkj gS
Ård&vax xzsM laxBu & ;wIysDVsyk]
tks xyr gS D;ksafd ;wIysDVsyk iksjhiQsjk
ls lacaf/r gS vkSj dsoy dksf'kdh;
xzsM laxBu çnf'kZr djrk gS] u fd
Ård&vax xzsMA

40. (b) Tim Berners-Lee invented
the World Wide Web
(WWW) in 1989 while
working at CERN. He
developed the first web
browser, web server, and
the fundamental
technologies like HTML,
HTTP, and URLs that form
the basis of the modern

internet./fVe cuZlZ&yh us 1989
esa CERN esa dke djrs gq, oYMZ
okbM osc (WWW) dk vkfo"dkj
fd;kA mUgksaus igyk osc czkmtj] osc
loZj vkSj HTML] HTTP, vkSj
URL tSls ewyHkwr rduhdksa dks
fodflr fd;k] tks vk/qfud baVjusV
dk vk/kj gSaA

41. (c) Orville and Wilbur Wright,
known as the Wright
Brothers, invented and
successfully flew the
world's first powered,
controlled, and sustained
aeroplane on 17 December
1903 in Kitty Hawk, North
Carolina, USA. Their
invention marked the
beginning of modern

aviation./vkWjfoy vkSj foYcj
jkbV] ftUgsa jkbV cznlZ ds uke ls
tkuk tkrk gS] us 17 fnlacj 1903
dks fdêðh gkWd] mÙkjh dSjksfyuk] ;w,l,
esa fo'o dk igyk lapkfyr] fu;af=kr
vkSj fujarj mM+ku Hkjus okyk gokbZ
tgkt cuk;k vkSj mM+k;kA muds
vkfo"dkj us vk/qfud mîó;u dh
'kq#vkr dhA

42. (d) In 2024, five individuals
were awarded the Bharat
Ratna. These included L.K.
Advani, M.S. Swami-
nathan, and Karpoori

Thakur, among others./2024
esa] ik¡p O;fDr;ksa dks Hkkjr jRu ls
lEekfur fd;k x;kA buesa ,y- ds-
vkMok.kh] ,e- ,l- LokehukFku vkSj
djiwjh Bkdqj 'kkfey FksA

43. (c) Roger Federer and Serena
Williams are legendary
players associated with
Tennis. They are among the

greatest tennis players of

all time./jkstj iQsMjj vkSj lsjsuk
fofy;El Vsful ls tqM+s egku f•ykM+h
gSaA os vc rd ds lcls egku Vsful
f•ykfM+;ksa esa ls gSaA

44. (b) NABARD stands for
National Bank for
Agriculture and Rural
Development. Established
in 1982, responsible for
providing and regulating
credit and other facilities to
promote agriculture, small-
scale industries, and rural

development./NABARD dk
iw.kZ :i gS us'kuy cSad iQkWj ,xzhdYpj
,aM :jy MsoyiesaVA 1982 esa LFkkfir]
;g Ñf"k] y?kq&Lrjh; m|ksxksa vkSj
xzkeh.k fodkl dks c<+kok nsus ds
fy, ½.k vkSj vU; lqfo/kvksa dks
çnku djus vkSj fu;eu djus ds
fy, ftEesnkj gSA

45. (b) The famous Konark Sun
Temple in Odisha was built
in the 13th century by King
Narasimhadeva I of the
Ganga Dynasty. It is
dedicated to the Sun God

(Surya)./vksfM'kk esa çfl¼ dks.kkdZ
lw;Z eafnj 13oha 'krkCnh esa xaxk oa'k
ds jktk ujflagnso çFke }kjk cuok;k
x;k FkkA ;g lw;Z nso dks lefiZr gSA

46. (d) Excessive exposure to
Cadmium (Cd) leads to Itai-
Itai disease, which was first
identified in Japan. It is a
painful condition affecting
the bones and kidneys,
caused by cadmium
contamination in water and

rice./dSMfe;e (Cd) ds vR;f/
d laidZ ls bVkbZ&bVkbZ jksx gksrk gS]
ftls igyh ckj tkiku esa igpkuk
x;kA ;g gfîó;ksa vkSj xqnks± dks çHkkfor
djus okyh ,d nnZukd fLFkfr gS] tks
ikuh vkSj pkoy esa dSMfe;e lanw"k.k
ds dkj.k gksrh gSA

47. (b) In March 2024, India's first
underwater metro – the
East–West Metro tunnel
beneath the Hooghly River
– was inaugurated in
Kolkata, connecting
Howrah Maidan and
Esplanade stations.
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ekpZ 2024 esa] Hkkjr dk igyk
vaMjokVj esVªks & gqxyh unh ds uhps
iwoZ&if'pe esVªks lqjax & dksydkrk
esa gkoM+k eSnku vkSj ,LIysusM LVs'kuksa
dks tksM+rs gq, mn~?kkVu fd;k x;kA

48. (b) The 8th Indian Ocean
Conference 2025, held in
Muscat, Oman on 16–17
February, adopted the
theme: “Voyage to New
Horizons of Maritime

Partnership”./8ok a Hkkjrh;
egklkxj lEesyu 2025] tks 16&17
iQjojh dks eLdV] vkseku esa vk;ksftr
gqvk] us Fkhe viukbZ% ¶u, leqæh
lk>snkjh ds f{kfrt dh ;k=kk¸A

49. (a) In February 2025,
Khecheopalri Wetland in
West Sikkim was
designated as India’s first
Ramsar Site in the state.
Lake gained official
recognition for its rich
biodiversity and cultural

importance./iQjojh 2025 esa]
if'pe flfDde esa •sfp;ksiyjh
osVySaM dks flfDde esa Hkkjr ds igys
jkelj lkbV ds :i esa ukfer fd;k
x;kA bl >hy dks bldh lè¼ tSo
fofo/rk vkSj lkaLÑfrd egRo ds
fy, vkf/dkfjd ekU;rk çkIr gqbZA

50. (a) In March 2025, it was ISRO
that successfully
conducted the first test
flight of its reusable launch
vehicle prototype named
Pushpak, marking a major
advancement in India's
space exploration

capabilities./ekpZ 2025 es a]
ISRO us viuh iqu% ç;ksT; ç{ksi.k
;ku çksVksVkbi iq"id dk igyk ijh{k.k
mM+ku liQyrkiwoZd vk;ksftr fd;k]
tks Hkkjr dh varfj{k vUos"k.k {kerkvksa
esa ,d çeq• çxfr gSA

C - QUANTITATIVE APTITUDE

51. (b)  (sin + cos)2 + (sin –

cos)2 = 2



2

5

2

 
 
 

+ (sin – cos)2 = 2

 (sin– cos) = 
3

2

52. (a) D = Speed × Time

= 50 × 0.5

= 25km

Relative speed = 60 – 50

= 10km/hr

Time = 
25

10
 = 2.5hr

Now,

11am + 2.5 = 1:30 pm
53. (c) Divisibility of 8

 x = 3, 7
Divisibility of 9
5 + 5 + 3 + 5 + 0 + x + 2
= 20 + x (x = 3, 7)
x = 7 (satisfies both the
divisibility rule for 8 and 9)

54. (b) ATQ,
(6M + 8B) × 10 = (26M +
48B) × 2
60M + 80B = 52M + 96B
M = 2B
Now,
Total Work
= (6M + 8B) × 10
= (6 × 2 + 8 × 1) × 10
= 200
Now,
(10M + 20B) × t = 200
(10 × 2 + 20 × 1) × t = 200
40t = 200
t = 5 days

55. (c) PR = 2 212 +16  = 20

Perimeter = PQ + QR + PR

= 12 + 16 + 20 = 48

S (Semi perimeter) = 
48

2
 =

24

Area of PQR = 
1

2
×PQ×QR

=
1

2
× 12 × 16 = 96

r (Inradius)

= 
Area

Semi Perimeter
= 

96

24

= 4cm
56. (a) (X + Y)2 = 92 + 4 × 7

= 81 + 28 = 109
(X3 – Y3) = (X – Y) {(X + Y)2

– XY}

= 9 × {109 – 7}
= 918
Now,
= X3 – Y3 – 8(X + Y)2

= 918 – 8 (109)
= 46

57. (b) Surface area of cuboid = 2
(2.5 × 2 + 2 × 0.9 + 0.9 ×
2.5)
Surface area = 2 (5 + 1.8 +
2.25)
Surface area = 2 (9.05) =
18.1m2

Cost = 18.1 × 70 = `1267
58. (c) Percentage increase =

126 – 120

120
 × 100 = 5%

59. (a) ATQ,

R : B = 2
×3

 : 5
×3

 = 6 : 15

B : Y = 15 : 7

R : B : Y = 6 : 15 : 7

28  1260

1  
1260

28

7  
1260

28
 × 7 = 315

60. (d) Quantity of `60/kg rice = x

kg

`30kg of rice = 2x kg (ratio)

C.P. = 60x + 30 × 2x = 120x

3000= 120x × 1
25

100

 
  

3000 = 150x

x = 20

61. (b) a + b + c = 
3x – 4

5
 +

6x – 7

8

+ 
9x – 10

11

= 
264x – 352 + 330x – 385 + 360x – 400

440

= 
954x – 1137

440

Now,

440 × 
954x – 1137

440

 
    = 771

954x = 1908
x = 2
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62. (d) year 2018

= 
 1010 – 932

932
 × 100

= 8.37%
year 2019

= 
 902 – 1010

1010
 × 100

= – 10.69%
year 2020

= 
750 – 902

902
 × 100

= – 16.87%
year 2021

= 
734 – 750

750
× 100

= – 2.13%
Now,
(+ 8.37 – 10.69 – 16.87 –
2.13)%
= – 21.32% (decrease)

63. (c) 2% more rate increase of
S.I. for 3 years = `360
2% more rate S.I. for 1 year

= 
360

3
 = 120

1% of invested sum = 
120

2

= 60
Invested amount = 60 × 100
= 6000

64. (b) Cosec = x, cot = y
x – y = a ...(i)

 x2 – y2 = 1= (x – y) (x + y) = 1
 a(x + y)=11

 (x + y) = 
1

a
 ...(ii)

From (i) and (ii)

2x = a + 
1

a

x = 
a + 1

2

a

cosec = 
a + 1

2

a

65. (c) Area of sector =

 2π × R  × θ

360º

= 
22

7
 × (5)2 × 

60º

360º

= 13.09 = 13.1cm2

66. (d) Money spent on Tennis and
Basketball = 35º + 40º = 75º
Money spent on Hockey and
Cricket = 94º + 135º = 229º

Percentage = 
75

229
× 100

= 32.75%
67. (d) Discount by Trader 'A' =

0.45M
Total discount by Trader 'B'
= 0.35M + 0.065M
= 0.415M
Difference in discounts =
0.45M – 0.415M
539 = 0.035M

M = 
539

0.035
 = 15400

68. (a) 4x – 9y + 13 = 0 ...(i)
2x + 3y – 13 = 0 ...(ii)×2
Subtracting the equation
4x – 9y + 13 – 4x – 6y + 26 =
0
15y = 39
y = 2.6

Now, x = 
 13 – 3(2.6)

2
 = 2.6

There is only '1' solution
that the given pair of linear
equations.

69. (d) 2m cos = n sin ...(i)

2n sec – mcosec = 3 ...(ii)

= 45º

2m cos45º = n sin 45º
2m = n ...(iii)
2n sec 45º – m cosec 45º = 3

2 2 n = m 2  + 3 ...(iv)

From (iii) and (iv)

4m 2  = m 2 + 3

n = 2

Now, (n2 + 4m2)

= ( 2 )2 + 
2

1
4

2

 
  

= 4
70. (b) Total votes = 1854 + 618

= 2472
Winning Candidate % =

1854

2472
 × 100

= 75%

71. (c) 1100  5 + 420  2+ 550 
5

= 220 + 210 + 110
= 540

72. (a)
AP

PB
 = 

AR

RD
 = 

AQ

QC  (Thales

Theorem)

 
2

4
 = 

AR

3

 AR = 1.5
AD = AR + RD
= 1.5 + 3 = 4.5cm

73. (a) Sonu's marks = 25% of x

= x  4
Another student's marks =
45% of x

= (9x  20)
ATQ,

 x  4 + 15 = (9x  20) – 5

 5x  20 + 15 = 9x  20 –
5

 20 = 4x  20

 x = 100
Minimum pass marks

= x  4 + 15
= 100 ÷ 4 + 15
= 40

74. (b) ATQ,

2

2πrh

πr h
 = 

3

2

r

2
 = 

3

2

3x

2
 = 

3

2
 (Satisfied if x = 1)

T.S.A = 2r (h + r)

T.S.A = 2 (3x) (7x + 3x)

T.S.A = 60x2

If x = 1,

T.S.A = 60
75. (b) Total Sales 2016 = 260

Total sales 2017 = 370
Ratio = 260 : 370
= 26 : 37

D-ENGLISH COMPREHENSION
76. (a) The number “seven”

indicates plural, so we need
the plural form “”Criteria”
’ multiple standards or
principles.

77. (a) Slanderous – A false and

defamatory spoken

statement that damages

someone’s reputation.
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Flattery – Excessive praise
or compliments, often
insincere.
Adorable – Something or
someone that is lovable,
charming, or delightful.
Adulatory – Excessively
praising or admiring, often
in an insincere or
exaggerated way.

78. (d) Whim – (vpkud bPNk)A
sudden or impulsive idea,
desire, or change of mind;

similar to Fancy (rkRdkfyd
bPNk) , which means a
spontaneous or imaginative
notion.

Antiquity (izkphurk) – The
ancient past, especially the
period before the Middle
Ages.
Factualness – The quality
of being based on facts or
reality.
Bloodiness – The quality or
state of being covered in or
involving blood, especially
in violence.

79. (b) Gazed (VdVdh yxkdj ns•uk)
means to look steadily and
intently, while Glanced

(>yd ns•uk) means to look
quickly or briefly.

Stared (?kwjuk) means to
look fixedly with wide-open
eyes.

Shouted (fpYykuk) means
to speak loudly.

Shot (xksyh pykuk) refers to
firing a bullet or projectile.

80. (c) we who are responsible
The pronoun is acting as
the subject complement
(after “It is...”), so we need
a subject pronoun ’ “we”

81. (c) Correct order is PQRS
P introduces the statement:

some experienced teachers
say that

Q begins the idea: teaching
about English is easy and

R adds contrast: teaching
English is difficult as

S explains why: the latter
needs dedication, resources
and many more

82. (b) Active Voice Structure:

Imperative (negative): Do
not + base verb (mind) +
object (Hari’s insulting
words)
Passive Voice Structure:
Let + not + object (Hari’s
insulting words) + be + past
participle (minded)

83. (c) Vicissitudes (mrkj&p<+ko)
means changes, especially
unpleasant or difficult
phases in life.
Similarly, Tribulations

(dfBukb; k ¡ )  means
sufferings, troubles, or
hardships.

Compilations (l adyu)
means collections of items
like data or writings.

Hibernations ('khrfuæk)
means long rest or sleep,
especially by animals
during winter.

Consolations (lk a Rou k)
means comfort given after
a loss or disappointment.

84. (c) Intransigent (gBh @ vfMx)
means unwilling to change
one’s views or agree to a
compromise, while

Subservient (vkKkdkjh @ v/
huLFk) means obedient and
willing to yield.

Pertinacious (n`<+) means
firmly holding to an
opinion.

Obstinate (gBhyk) means
stubborn and unyielding.

Tenacious (n`<+) means
persistent and determined.

85. (d) “Himalayas” is a proper
noun that refers to a
specific mountain range.
Like other plural
geographical names (e.g.,
the Alps, the Rockies), it
takes the definite article
“the.”

86. (a) The idiom “end of her
rope” means having no
more patience or strength

left (lcz ;k rkdr dh lhek ij
igq¡puk @ fcYdqy Fkd tkuk)A

87. (a) “looking down upon”
means to consider someone
inferior or treat with

contempt (fdlh dks rqPN
le>uk @ uhpk fn•kuk)A

88. (d) Correct order is R – P – S –
Q
R introduces the
mission: The Artemis
mission will explore
P tells the location: the
south pole of the Moon
S gives a reason for
exploring that area:
where ice has been
confirmed to exist within
craters
Q adds significance to
the mission: and where no
man has ever been before

89. (a) The correct spelling is

shuddering (dk aiuk) ,
which means shaking or
trembling, usually from
fear, cold, or strong
emotion.
Other correctly spelt words
are:

Auspicious ('kqHk): means
something favorable or
indicating a good
outcome.

Assurances (vk'oklu):
refers to statements or
promises made to give
confidence.

Stakes (•aHks @ nkao): can
mean wooden or metal
posts or something at
risk in a situation.

90. (a) The correct spelling is

incense (vxjcÙkh), which
means a substance that
produces a pleasant
fragrance when burned,
often used in religious or
spiritual ceremonies.
Other correctly spelt
words are:

Enhance (csgrj cukuk):
means to improve the
quality, value, or strength
of something.

Immense (cgqr fo'kky):
refers to something
extremely large or great.

Elegance ('kkyhurk @ lknxh
Hkjh lqanjrk) : means the
quality of being graceful,
stylish, and tasteful.
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91. (d) Inversion is required after
words like “here” and
“there” when followed by
verbs of position.
“Here lies the book”

92. (b) Resolve (lkek/ku djuk)
means to find a solution
to a problem or difficulty.

Permeate (iQ Sy tku k)
means to spread or flow
throughout something –
usually used for liquids,
ideas, or emotions.

Stagnate (Bgj tkuk) means

to stop developing or
progressing, often leading
to dullness or lack of
growth.

Contradict (foj k s /
dju k)means to say or

imply the opposite of
something stated,
showing disagreement or
inconsistency.

93. (a) The silver lining in the

cloud (eqlhcr esa Hkh dqN vPNk
gk su k) means a positive

aspect in an otherwise
negative or difficult
situation.

The silver spoon : refers
to someone born into
wealth and privilege

94. (d) Active Voice Structure:

Modal verb (can) + base

verb (achieve) + object

(nothing) + condition

(without hard work) Passive

Voice Structure: Object

(Nothing) + modal verb

(can) + be + past participle

(achieved) + condition

(without hard work)

95. (d) Obituary – A news article

that reports the recent

death of a person, often

with a short biography.

Centenary – The 100th

anniversary of an event or

a person’s birth.

Culinary – Related to

cooking or the kitchen.

Mortuary – A place where

dead bodies are kept

before burial or cremation.

96. (a)

97. (d)

98. (b)

99. (c)
100.(b)

ANSWER KEY

1. (d)

2. (c)

3. (d)

4. (a)

5. (d)

6. (c)

7. (b)

8. (c)

9. (c)

10. (b)

11. (d)

12. (c)

13. (c)

14. (b)

15. (d)

16. (d)

17. (c)

18. (b)

19. (c)

20. (b)

21. (c)

22. (c)

23. (c)

24. (a)

25. (d)

26. (b)

27. (d)

28. (c)

29. (a)

30. (b)

31. (b)

32. (a)

33. (b)

34. (b)

35. (c)

36. (c)

37. (a)

38. (c)

39. (d)

40. (b)

41. (c)

42. (d)

43. (c)

44. (b)

45. (b)

46. (d)

47. (b)

48. (b)

49. (a)

50. (a)

51. (b)

52. (a)

53. (c)

54. (b)

55. (c)

56. (a)

57.  (b

58. (c)

59. (a)

60. (d)

61. (b)

62. (d)

63. (c)

64. (b)

65. (c)

66. (d)

67. (d)

68. (a)

69. (d)

70. (b)

71. (c)

72. (a)

73. (a)

74. (b)

75. (b)

76. (a)

77. (a)

78. (d)

79. (b)

80. (c)

81. (c)

82. (b)

83. (c)

84. (c)

85. (d)

86. (a)

87. (a)

88. (d)

89. (a)

90. (a)

91. (d)

92. (b)

93. (a)

94. (d)

95. (d)

96. (a)

97. (d)

98. (b)

99. (c)

100.(b)


